Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-I11 + EXAMINATION — SUMMER - 2014

Subject Code: 3332901 Date: 13-06-2014
Subject Name: Mechanical Engineering for Textiles
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (a) Define (a) Sensible heat (b) Latent heat (c) wet steam (d) degree of super heat
(e) Dry saturated steam (f) super heated steam (g) specific volume

(b)  Draw T-S diagram with usual notation. Give its application in textile engineering field

Q.2 (a) Explain working of centrifugal pump with neat sketch.
(b)  Define compression ratio. Explain working of reciprocating compressor with neat
sketch.
OR
(b) 1Kg of steam at 10 bar ab pressure , 0.8 dryness fraction is heated with constant
pressure to 50 degree superheated steam. Calculate change in enthalpy for it.

Q.3 (a) Define (a) dry bulb temperature (b) wet bulb temperature (c) dew point temperature
(d) specific humidity (e) relative humidity
(b)  Explain Unit type humidifier with neat sketch
OR
Q.3 (a) Explain importance of humidity in textile industries.
(b) Explain use of air filters and moisture oil separator.

Q.4  (a) Write short note on compound gear drive. List its advantages and limitation.
(b)  Write short note on epicyclical gear train.
OR
Q.4 (&) Write short note on belt drive with sketch. List its advantages and limitation.
(b) Make checklist for maintenance activity in textile industries

Q.5 (a) Explaincauses for vibration in textile industries and explain its remedies.

(b) Difference between damped vibration and undamped vibration
OR
Q.5 (a) Give need of material handling equipments. List material equipments used in textile

industries
(b)  Write short note on butterfly valve
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